CHEM 11 PRE-COURSE REVIEW
I. CONCERNING IONIC AND COVALENT BONDING

a. Define an ionic bond……

b. Define a covalent bond…..

c. Which compounds are ionic (I) or covalent (C)? NaCl, H2O, CH4, Ba(OH)2
II. CONCERNING COVALENT BONDING

a. Given the following electronegativities: F=4.0, O=3.5, N=3.0, Cl=3.0, C=2.5, H=2.1 rank the following bonds from least polar to most polar( H-Cl, F-F, H-F, C-H, C-O, N-H 
III. CONCERNING LEWIS STRUCTURES
a. Draw Lewis structures of H-Cl, H2O and CH4
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For each of the following Lewis structures indicate the shape (by name) around the central atom, the bond angle and the molecular polarity (show the dipole if polar).



Shape_______________            ________________         ___________________
Bond angle  ___________                         ___________                 ___________

Polar or non-polar
Polar or non-polar
Polar or non-polar
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For each of the structures above show with a δ+ / δ- or          the dipole in each molecule. Indicate if the molecule is polar or non-polar.

IV. CONCERNING SOLUTIONS

a. Name and define 3 intermolecular forces.
b. How do intermolecular forces determine if a substance has a low or high boiling point (i.e., it is a gas or liquid at room temperature) and a low or high melting point (i.e., it is a liquid or solid at room temperature)?

c. What does the phrase “like dissolves like” mean?

d. What are the important intermolecular forces in the following molecules? H-Cl, CH3CH2CH2CH2CH2OH, H-F

V. CONCERNING ACIDS AND BASES

a. What is the definition of a Bronsted-Lowry acid and base?

b. Which of the following are acids (A) and which are bases(B)? NH3, HCl, HC2H3O2, NaOH

VI. CONCERNING CHEMICAL REACTIONS

a. In the following chemical equation label the reactants and the products.

b. In the following chemical equation label the reactant that is oxidized and label the reactant that is reduced.  

3CH3OH  +   4H2CrO4   +  6H2SO4   (  3HCO2H   +   2Cr2(SO4)3    +   13H2O
Answer on a separate page by Question. For example, the first two questions are Ia and Ib and the last two questions are VIa and VIb.
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